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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING — SEMESTER - I/ *» EXAMINATION — WINTER- 16

Subject Code: 3316302 Date: 30/12/2016
Subject Name: Engineering Maths- 11
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1.

2
3.
4,
5

Q.1

Attempt ALL questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of SIMPLE CALCULATOR is permissible.(Scientific/Higher Version not allowed}
English version is authentic.

Fill in the blanks using appropriate choice from the given options. 14
. x

Period of cot(g) =

a.6m b.12 7 c.8m dZ

cot(Z) o 2ulcclillet=

W67 oL127 8. 87 s.%
Sin 135° =
1 1
3.\{.—2 h.— \I{.—E C-\/E d—ﬁ
Sin 135° =
1 i

AU o.—— 542 5. —2
Sin3A =
a.3sinA-4sinA b.4sin*A-3sinA c.4sinA-3sin®A d.3sinA-4sinA
Sin3A =
VL. 3sinA-4sinA ol. 4sin*A-3sinA §.4sinA-3sin%A 5. 3sin*A-4sinA
%E Radian = Degree
a.40° b.80° c.20° d.10°
%’ A3t = 23l
ul, .40° ol. 80° 5.20° 5.10°

. T -
Sin(>—8) =
a.cos o b.cos @ c.sin@ d.-sin @

- T
Sln(; —-8) =
W.-cos & Ol.cos @ §.sin@ S.-sin @
Sin 40° + sin 20° =
a.cos10° b.-cos10® ¢.c0s20° d.-cos20°
Sin 40° +5in 20° =
U.cos10° Ol.-cos10° 5.c0s20° S.-c0s20°

if x is perpendicular toy , then
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Q.2

10

0

11

L

12

1R

13

13

14

¥

(a)

axX Xy=0 b xy=1 cXx.¥y=0
@lxaya(&iﬂ sl dll
WEXF=0 Wi xXy=1 8%.7=0

fa=2i—2j+kandb=1i+3j+3kthena. b=
a.l b.0 c.2
Sla=2i—2j+kuAb=i+3j+3k dl abs=

u.1 6.0 8.2
2 - .

ifA = [4 1 ] then adj(A) =

1 3 -1 3 -1 -3
a‘[_4 2] b‘[ 4 2] c‘[_4 _2]

2 -3 o
%A = [4 1 ]rﬂadj(A) =

1 3 -1 3 -1 -3
wl_, 3] ol 5] -
The conjugate of -3+2i is
a.3+2i b.-3-2i ¢.3-2i
-3+2i ofl vojoltt] A8 Aval=
W.3+2§ 0l.-3-2i §.3-2i
IfZ = -1+i then |Z] =
a.—2 b.0 c.l
Az = -1+ l|z] =
A, .—V2 .0 5.1
Loglxlog2 xlog3 =
a.l b.0 c.2
Loglxlog2 xlog3 =
u.1 6.0 8.2
35log3 2 o
a.l6 b.8 c.32
35log3 2 o
ul.16 6.8 §.32

iflog,x =1thenx=
a.l b.0 c.7

°é7l10g7x = 1cllx =

w1 0L0 8.7

Attempt any two SLEURL & oll el AL

Prove that : log(vx¥Z + 1+ x) + log(vxZ+1— x)=0
A 5A log(v¥Z+1+ x)+ log(vxZ+1— x) =0

Solve the following: log2+log(x+2)-log(3x-5) = log3
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dx.y=1

d.none of these

.38 ugl od

d.-3+2i

S.-3+2i

d.vV2

5.2

d.None of these

s. As Ul oid

d.256

S.256

d.-7

06
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2. G lul : log2+log(x+2)-log(3x-5) = log3
3.  Expand {1-x)? using Binomial Approximation
3. olelae Yy «l Gualloal 531 (1-x)2 of [dadel 52U

(B} Attempt any two SIEURL A oll wcllol AL 08
1. 2 2 O[[1
Evaluate: [2 1 1]|0 2 3||3
3 1 olls
N 2 2 O[[1 _
201 1]\0 2 3 \3\«ﬂ[§udaﬂtﬂ.
3 1 olls

2. Solve the Following equation by Matrix Method 3x+2y =7 and 11x-4y =3
2. AMls uek@ ol Als?0 ol G3e W 3x+2y =7 Vol 11x-dy =3

(23.76)%X{41.82)
(11.372)3

3. A@YOLRLs 2ud oll Guallol 531 Gie Aandl

Solve using log table :

(23.76)2X(41.82)
(11.372)3

Q.3 (2} Attempt any twoSLEUGL Ol oll il A, 06
1. ifa=16,b=11,c= 9then find the area of AABC
1. %la=16,b=11,c=9 <l AABC of &g elltl,
2. Prove that :tan35° + tanl10°® + tan35°.tanl0° = 1

2. UL 52 :tan35° + tan10°® + tan35°.tan10° = 1

3

e S et ey
3. U 52 :csoi:((;—_f;;z) t ct::((zgsf:?) + ifce(r;foﬁe? = -1
(b} Attempt any two SlEURL & oll wallel 2L 08
L prove ot LI _ gz
R
2. Pprove that: % = tan%
. AU 5 =S = 2

3. Ha—-f= fs—r,then Prove that 2cosa — v/3sinf = cosf

3. ‘ﬂa—ﬁ = fs—r Al A §2A 2cosa — \3sinf = cosp

Q4 (a)  Attempt any twoSlEUGL A «ll scllol AL, 06

1. Find the Square root of 3-4v/10i
1. 3-4v10i of adlya et

5 _ ) _(6+D)(2-D)
Express in the a+ib form : (4+30)(1-20)

(6+i)(2—0)

G000 il a+ib AU ML FRdl.
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3. Forwhatvalue of P, vectors 2i+3j-k and Pi-j+3k are perpendicular to each
other?

3. P ol 565 (3aict 12 AlRall 2i+3j-k Wl pi-j+3k Aso{lost o clot U2

(B} Attempt any two SLEURL QL oll wcllol L. 08
1. _(cos38+isin38)° (cos38 +isin38)”
Evaluate : (cos40+isind@)3
q. (cos39+isin39)5.(c.0339+isin39)2:ﬂ Bud sllel
(cos48 +isin40)3

2. Constant forces (3i-j+2k) and (i+3j-k) acts on a particle. Particle moves from a
point (2i+3j+k) to the point (5i+2j+3k). Find Work done by the force

2. AN Gl (3i+2k) Vel (i+3jk) 5 8Bl GUR oLl doj [Blg (2i+3j+k) &l

(5i+2j+3k) Yl &Uleticlz UA 8. dl 2 et At s3] 2l
Prove that the angle subtended between (1,1,-1) and (2,-2,1) is sin~? J%

3. Al sA ¥ AR (1,1,-1) and (2,-2,1) AR <l vjall sin‘i\[g B.

Q5 (2} Attempt any twoSlEUGL A ol scllol L. 06
1. Findr, ifsPr=gPrs
q. %?l.spr =gPra ('n. r %Tltrl

2. Find the Probability of getting 4 heads in 6 tosses of fair coin, using Binomial
Distribution

2. U5 UHAA Rssl A 6 dlR GBlNdL €25 AU 4 81U HA dof] Aelcedl
Binomial distribution 2| 20l

3.  Using Poisson Distribution, find the probability that the ace of spades will be
drawn from a pack of well shuffled cards atleast once in 104 consecutive trials

3. AR A AWl Ul digll Actd 120% AR WAL Usdl Hi 2ol 249

A5 1R 50l ol Assl o150 Aoll Aelldell Poission distribution oll GUlloL

53] alltll
(B} Attempt any two SIEURL A oll wcllol L. 08
1. Find the Karl Pearson’s Coefficient of correlation between x and y from the table
X 1 3 4 6 8 9 11 14
y 1 2 4 4 5 7 8 9

1. AU Ml 2 Karl Pearson’s &l 2JRlis Amal

X 1 3 4 6 8 9 11 14
y 1 2 4 4 5 7 8 9
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2. A problem of statistics is given to three students A,B and C whose chances of

solving itare % ,% ,% respectively. What is the probability that the problem will
be solved?

2. wlssaeA <l slasl 3 [eusdl ABual ¢ ol AUl HL MIAH B B

Ghatalll asedl vogsi 1,2 21 ol Ghel Ul doll el baell 4l

2's’'4
3.  Find the Probability of throwing a)5 and b) an Even number with an ordinary six
faced dice

3. A5 AUAE 6 WAL ol GBL0LAL (a) 5 sl (b) YU AvaUl UA Aefl Aeastl
glltl.,

LA LR L2 R AL E LR S L)
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